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WEEENGET PPN 2,500,000 2,500,000 0
SRS DNES 2,500,000 2,500,000 0
=2 - CHEXZ2 BtE=2 2,500,000 2,500,000 0
802 BH& 20| &t 2,500,000 2,500,000 0
01 2DEX3EtaE =2 2,000,000 2,000,000 0
O=21NEX3 A& Btz 2,000,000




AR RN FOE=

Hu: HRES (Ol

~

@e BMXE (el &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
02 Al - EHIEXZSEHEZ 500,000 500,000 0
SHEXZ ASHY BHEZz 500,000
il bl bl 8,423,248 4,514,763 3,908,485
= 139,440
s 165,000
< 110,388
[ia 8,008,420
ol bl bl 8,423,248 4,514,763 3,908,485
= 139,440
as 165,000
= 110,388
s 8,008,420
ol Bl gl 8,423,248 4,514,763 3,908,485
= 139,440
as 165,000
< 110,388
i 8,008,420
801 Gl BIbl 8,423,248 4,514,763 3,908,485
= 139,440
s 165,000
< 110,388
e 8,008,420
01 Btoldltl 3,600,000 3,005,133 594,867
Ouldl sl 3,600,000
02 THoH - TH == 0l Hldl 4,403,200 1,500,000 2,903,200
OTHol - THS =0l gl bl 4,403,200
NBUHERES 420,048 9,630 410,418
OURERES 420,048
— SdiOIEMelX& At 167,328
= 139,440
< 27,888
—=3EHe0d cl2gE 247,500
s 165,000
< 82,500
— &4 Mo 2= IF0H2 XA 5,220




